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Q.1: * P2* olusiyl Alkenes Mark(s): 5/5

How many hydrogen atoms are in an alkene S OSIY egin B Basasall Cung gl DS e S

with nine carbon atoms and one double bond? hanly ANl ddalyy (90 sl 4




Q.2: *P1* &lissyY! Amines Mark(s): 5/5

When two organic groups both consists of aliphatic i e Lagie JS 9S00 luguae e ganse Jad Ladie
chains of carbon atoms replace two hydrogen atoms L) ecin A a5 daa GpSl i a Al

............................. i 4l

o CHM.5.6.01.015

tertiary amine GG cpadl

womateamne




Q.3: *p2* Jay¥l olaslla daaws Naming aryl halide Mark(s): 5/5

What is the correct name of the compound sl JSAN 8 e gal) iSyall priaiall a)
shown in the figure below? 1 (IUPAC sl Lisan)

(Using IUPAC rules)

°© CHM.5.6.01.013

d.

1- Bromo-2 — chloro — 5 - iodobenzene g~ S — S —2— sa9n—1
b.

1= Chloro =2 — bromo - 4 - iodobenzene e =4 - gagn—2- 98- 1
C.
d.

1- lodo-3 — bromo — 4 - chloro benzene




Q.4: "P2* iy guas Llis e el Reactions of organic compounds Mark(s): 5/5

Regarding the reactions in the table below. bl Jganll & cilelally 3lasy Logh

Which of the following is correct?

R—CH—CH;—X — R—CH=CH; + HX

R—CH;—CH;—OH — R—CH=CH; + H;0O

R—C=C—H + H, — R—CH=CH,

&
| Learning Outcomes Covered

o CHM.5.6.02.003

The reaction 1 is addition used to convert the Aapiall b WL Gl Jogadl prinndy ALl 1 Jelad)

liquid unsaturated fats into solid saturated fats dnsda dddea G0 )

The reaction 3 is an elimination and produces alkyne . o iy i

e reaction 2 is addition and produces alkene Ol die sy Al 2 Jelidl




Q.5: *p2* Ll Aay iy oY sasll jailas Properties of alcohol and ethers Mark(s): 5/5

Ethers are generally more volatile and have much CNpaSl e i e daay il A ST A S
lower boiling points than alcohols of similar size cpaally ddajall ABSH 3 al doglall
and mass. What explains these properties? foailadl)l 028 el o2l Lo

A P eV 50 pa dadye Gimg b 3 dgng pe 1

Ethers have no hydrogen atoms bonded to the oxygen atom

anil lgams O Aemayih il 00 W1 il GV |

Ether's molecules cannot form hydrogen bonds with each other

el Slisia e g gl S e dass o AN A eV 5,3 S8 o

The oxygen atom in ether can bond with hydrogen atoms of water molecules

, Learning Outcomes Covered

o CHM.5.6.01.016

Q.6: *P2* adlall HISIM dadliall daaall Structural formula for the cycloalkane Mark(s): 5/5
What is the correct structural formula £ A0 Al B daaall 4ol dasall L
e e (s st g 1 il ~2- Uil —4)

(4-ethyl-2-methyl-1-propylcyclohexane)

m
-

| Learning Outcomes Covered

-




o CHM.5.6.01.013

CH,CH,CH,

CH,

CH, CH,CH,

CH,




Q.7: * P1* ) 32,5)1 3,3 The carbon atom Mark(s): 0/5

Which of the following structures is possible to be formed 0380 555 L of Jdadd) (e A Sl
by carbon atom?
Chain structures
dojiie Jde i3 LS5 2
Branched structures
ks LS 3
Ring structures
O (PR PICIC I 5 4
Cagelike structures

o CHM.5.6.01.001

123and 4 453,20




Q.8: * P2* diilag,y¥I &ilss,l | dsacss Naming aromatic compounds

Using IUPAC rules, what is the name of the following
aromatic compound?

CH,

CHs
CH,CH3

Mark(s): 5/5

£ AU Ay ) Syl Lo IUPAC diand selgd Lasiiiis

°© CHM.5.6.01.013

a.

1-ethyl-2,4-dimethylbenzene
b.

4-ethyl —1,3~ dimethylbenzene O Jiia S =301 Ji-4
C.

2-ethyl-1,5- dimethylbenzene O Jitse AU =5e]- Jiu-2
d.

1- ethyl-4,6- dimethylbenzene




Q.9: * P2* LLISKI daawd Naming alkanes Mark(s): 5/5

Using IUPAC rules, what is the correct name musaall a1 L o JUPAC)a2ld Lasiais
of the structure shown below? £a] dacgall A8 disuall
clHa ?Hz CH,
CH;CH;H;CH;CHCH;Cl CH;
CH;
CH;

o CHM.5.6.01.013

d. .
 4-ethyl-4,6-dimethyldecane
b.
4,6-dimethyl-4-ethyldecane
C.
7—-ethyl-5,7-dimethyldecane
d.
5,7-dimethyl-7-ethyldecane
Q.10: * p3* aud,ill 43 )b Numbering way Mark(s): 5/5

Which the following structural formulas shows the incormrect lasaall i adl Al g elid 0 A5G Al gl

numbering way according to IUPAC rules? ¢ ( IUPAC) 15l as

o CHM.5.6.01.013




GH
GHIGH=G~GH=CH




Q.11: * P3* dadlis &l yeg5ai Structural isomers Mark(s): 5/5

Which of the following is NOT a structural isomer m,mw_-.\,s,.u,su.,.,jws,m..@
of other three compounds?

o CHM.5.6.01.011

OBJ:.’-.’ ‘-\.'.‘::9‘ ‘é-‘\m — 3 ’ .

OLad) e Sl 2.2
2,2-Dimethylpropane

OUsn Jine —2
2—-methylbutane




Q.12: * P3* &l ¥y &Y 9asll Alcohols and ethers Mark(s): 0/5

Regarding the compounds in the table below. ol Jgaadl 3 LSyl 3hay L

Which of the following is correct? franna Al L

(Using IUPAC rules) (IUPAC el Lasin )
| 2994 2 3 4

S| g | OO

m
-

, Learning Outcomes Covered

}

°© CHM.5.6.01.013

d. |
Compound 1 is called ethyl butyl ether R i A e 18,0
b.
Compound 2 is called cyclopentanol Gl Uiy e 2 S)all ‘
C. . , J i
Compound 3 is called 1,2,3 ~Propanetriol Isdp cbyr 3 52 51 ad 3 oS
d.
| Compound 4 is called cyclopentyl ether S Al iy A e 4 Sl ‘
Q.13: * BONUS* kil JeldiCondensation reaction Mark(s): 5/5

What is the ester formula formed by the condensation O adSall Jeld e pily A ) dis L
reaction between

fdsilg = 1 9 dhigiliall (aas
methanoic acid and 1 - propanol?

r~

T _— R e ]
| Learning Outcomes Covered !

1 o CHM.5.6.02.003



O

b.

O
I
C

CH3 CHZCHZ - = 0 —CH2CH3




Q.14: * P1* Ladidl (0 @ geaaldl Slas,ll ole ] swaadl Getting organic compounds from oil Mark(s): 5/5

Which of the following is correct regarding ligs Sy el e Adany 3lay Lagh i s s 4!
the hydrocarbon cracking process?

- __-»«.' ) '-- o .‘,_,, £ - e o 2 .-—' e | - — ol i - e e L —' -—»_“ =1 - ".,v‘ e - ...."“ =t b [

Cracking is done in the presence of oxygen Fad ey cuaasSY) 350 A s 2
and in the absence of a catalyst

Cracking converts molecules of the size range needed Odgjall stad) aaadl el 8 el el Jea
for gasoline into heavier hydrocarbon molecules
U A Sy 08 Sl )

Cracking produces unusable fractions A AL i g el a

Q.15: *P2* Wil Jelds Addition reaction Mark(s): 5/5
What is the reaction that expresses the addition Cing gl el Al e el ) Jelill L
of hydrogen chloride to cyclobutene? gl )

o CHM.5.6.02.002







Q.16: * P1* &l g )59 0a¢d) Aasas Classification of hydrocarbons Mark(s): 5/5

Which of the hydrocarbons shown below react with bromine? ol e Jo by olisl Al iy Sy pglt (61

H H
f H H—C=C <|: =
H H

3

o CHM.5.6.01.009




Q.17: * P2* SulsiY daawi Naming alkyne Mark(s): 5/5

Using IUPAC rules, what is the correct name il Al dasall musall aul) L UPAC iy Lasnud
of the following structure?

5-ethyl-G-octyne SHS56 — S5 Eel

4-butyl-2-hexyne oSa-2 — g —4 .

3-butyl-4-hexyne odeSa—4 — g =3 .




Q.1

—

8: * P1* Jusi¥I Sslasla Alkyl halide

Which of the following statements is correct regarding

alkyl halides in the table below?

Mark(s): 5/5

Ol 998 -1
1-fluoropentane

s gy -1
1-chloropentane

R |
1-bromopentane

TR |

S ey 3laty L daiaas 2000 ) g
eolal Jgaadt 3
CH,CH,CH,CH,CH,F
CH,CH,CH,CH,CH,ClI
CH,CH,CH,CH,CH,Br
CH,CH,CH,CH,CH,|

e

1
‘'

Learning Outcomes Covered F

°© CHM.5.6.01.016

al
The boiling point of 1 — iodopentane
is the lowest among the four compounds
b.
The boiling point of 1 — fluoropentane
is the highest among the four compounds
C. , f
| | 1
The attraction of temporary dipoles iy gag ~ 1 o sl B et 36K | I
i in 1 —iodopentane is strongest oSas Lo gl °
d )
!
S*%‘H:ﬁvfww , e W G e e S W Ge e Ee e W e S e e e e e e e e e e e e s e
d.

The attraction of temporary dipoles in

1 - fluoropentane is strongest

Olilag ol — 1 3 adgall GUaY! Gilad 055
oSas Le (598l




Q.19: *P3* dawwsin &l 091 Geometric isomers Mark(s): 5/5

Which of the following is a pair of geomtrical isomres? $hpuatigh Slyag i) 0 2 P Lae 8!
s P s R T O She o
ﬂ—\c—cil—," e e ]
CHiCH, - CHiCH, CHEHy, [1G6C%, e S o T




Q.20: *P1* dadals ol 4s gaall The functional group Mark(s): 5/5

Which of the following is correct regarding CligaSy puel) Clinde 3l Ll goana b L
substituted hydrocarbons in the table below? £olial Jeaall A
o 0O H 0
. o
C=oH | s=o-n-x | BOR"| L [
2 3d > Sy N
Aldehyde Amide Ether Carboxylic acid =
Carboxylic acid Amide Ether Aldehyde
PSS aa ! s on %
Carboxylic acid Amide Aldehyde Ether
Ether Carboxylic acid Aldehyde Amide h

o CHM.5.6.01.003
o CHM.5.6.01.013




Q.21: *p2* SLIshU adladll (ailasldl Physical properties of alkanes Mark(s): 5/5

Why do the melting and boiling points of methane differ Slall Sllally Slgeaty) Cilayo S G b
from the melting and boiling points of water as shown ToUJJMc-‘-y)MoWoW;M‘Y'&bﬁCﬁ
in the table below?

16 amu 18 amu Molecular mass 4.5l A<l

-162*C 100 °C Boiling point D a0

~182*C 0°'c Melting point  JeaV1 4558

s Covered

o CHM.5.6.01.016

Because methane molecules are nonpolar and do not form M&M@.&Jﬁ?hwu‘ﬁ%@uﬁM‘m}oV “
hydrogen bonds with each other , whereas water molecules
are polar and freely form hydrogen bonds

Ay b Jayly) UKy dadad ol Sl Laiy

7

Because methane molecules are polar and form hydrogen ans aa lgaans Ay ae Loy S5y Aakad ) Slisa N
bonds with each other , whereas water molecules are
nonpolar and do not form hydrogen bonds

Ly b Jady; JSS Yy Ll b ol Sl Ly

Because C-H bonds in methane molecule have a very large s uS D) L S8 agin A C-H Lty Y
electronegativity difference, whereas O-H bonds [ &4
in water molecules have a very small electronegativity difference “r o ) L Apsd 4

133 oy aDlial g

Because methane molecule has a bent geometry, ol e JSE Ly iate gl Bl egie JSE N
whereas water molecule has a regular geometry plile a2t

Q.22: *BONUS* Jui aa sl lasys Carbonyl compounds Mark(s): 5/5
What is the structural formula of the compound S jall Al Aeal) L
(3-bromo-2-ethyl-butanoic acid)? ¢ (ligilipnll aas Ji) -2 — sagn —3)

# '
.l Learning Outcomes Covered F



°© CHM.5.6.01.013

-
CEEE AR B W W

SPREIN | ERV I .

II,

Lilloy! poliall 28

ﬂ

CH3—(i7H —(l‘.H —
Br




